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Van Hove Plot: P/(uwe Space
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longitudinal axis ?

28

Nmax = 150000;

Mass = {MPI, NP, META, NPI, MP};

plab = 12; Allevents = Table[Gen3COM([plab, Mass), {i, Nmax}];

{nz, n2, p2} = Boost[Allevents, plab);

funw(q , #&_, »%_, pZ_] := ArcTan([- (#Z - pZ) /8qre (3], »Z]);

q = Sqrt(nZ2”2 +« n2"2+p2°2);

@ = Table[funw(q[[i]], n2[[1]], »2[[4]], PZ[[1]]], (i, Mmax}];
vhflats = Table[{q[[i]] Cos[w[[i]]], q[[4]] Sin[w[[4]]]}, {4, Nmax}];
lplotBl2 = DensityRistogram[vhflatB, ColorFunction +» "Rainbow”]
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Select data only : (Eta,Pi)>0
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Select data only : (Pi,P)<0
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Exercices: 1. Why longitudinal plot might not be appropriate ?
2. Why events only in half Van Hove plot ?

n Plab = 1.94 GeV
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